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Questionl:-Which among the following newspaper/s was/were started by Herman
Gundert?

(i) Rajyasamacharam

(ii) Malayalarajyam

(iii) Paschimodayam

(iv) Njananikshepam

Select the correct answer from the codes given below :

A:-(i) only

B:-(i) and (ii) only

C:-(i) and (iii) only

D:-(i), (ii) and (iii)

Correct Answer:- Option-C

Question2:-Which of the following pairs are correctly matched?

A B
(i) Samatva Samajam - Vaikunta Swamikal
(ii) Prathyaksha Raksha - Poikayil Sree Kumara Gurudevan

Daiva sabha
(iii) Sahodara Prasthanam - Vaghbatananda
(iv) Valasamudaya
Parishkarani Sabha - K. Ayyappan
Choose the correct answer

A:-(i) and (iii)

B:-(i) and (iv)

C:-(i) and (ii)

D:-(i), (ii) and (iv)

Correct Answer:- Option-C
Question3:-Which of the following pair is wrong?

A:-Al Ameen - Vakkom Abdul Khader Maulavi

B:-Samadarsi - A Balakrishna Pillai

C:-Yuktivadi - K. Ayyappan

D:-Mitavadi - C. Krishnan

Correct Answer:- Option-A



Question4:-Which among the following is not a work of Sree Narayana Guru?
A:-Darsanamala
B:-Vedantasaram
C:-Atmopadesasatakam
D:-Kalinatakama
Correct Answer:- Option-B

Question5:-Which among the following statement/s is/are true about Pandit K.P.
Karuppan?

(i) He organised the people of his community into regional groups called Sabhas.
(ii) He was the author of ‘Jathikummi' that criticized the caste sytem.

(iii) The King of Cochin honoured him with the title Kavithilakam.

Choose the correct answer

A:-(i), (ii) and (iii)

B:-(ii) only

C:-(ii) and (iii) only

D:-(i) and (ii)

Correct Answer:- Option-A

Question6:-Name the woman freedom fighter who participated in the Civil
Disobedience Movement at Kozhikode and also was elected to the Madras
Legislative Assembly twice.

A:-Arya Pallam

B:-A.V. Kuttimalu Amma
C:-Anna Chandi
D:-Lalithambika Antharjanam
Correct Answer:- Option-B

Question7:-Consider the following statements

(i) T. Subramanian Thirumumbu was the captain of the Guruvayur temple entry
campaign.

(ii) T.K. Madhavan was the Captain of Volunteer Corps of Guruvayur Satyagraha.
(iii) K. Kelappan undertook his historic fast at Kizhakke Nada (Eastern Gate) of the
temple.

Which of the above statement/s is/are correct?

A:-(i) only

B:-(i) and (ii)

C:-(i), (ii) and (iii)

D:-(i) and (iii)

Correct Answer:- Option-D

Question8:-Consider the following pairs :

(i) Sabdangal - Vaikom Muhammad Basheer
(ii) Vishakanyaka - S.K. Pottakkad

(iii) Branthalayam - Kesav Dev



(iv) Arkuvendi - Takazhi Sivasankara Pillai
Which of the above pairs are correctly matched?

A:-(i) and (ii)

B:-(i) and (iii)

C:-(i), (ii) and (iii)

D:-(i), (ii), (iii) and (iv)
Correct Answer:- Option-C

Question9:-The 91st Amendment Act (2003) limits the maximum strength of Union
Ministry as

A:-10% of the total number of members of the Lok Sabha
B:-20% of the total number of members of the Lok Sabha
C:-17% of the total number of members of the Lok Sabha
D:-15% of the total number of members of the Lok Sabha
Correct Answer:- Option-D

Question10:-Which among the Fundamental Rights was considered as the 'heart
and soul' of the Constitution by Dr. B.R. Ambedkar?

A:-Right to Constitutional Remedies
B:-Right to Equality

C:-Right to Freedom

D:-Right against Exploitation
Correct Answer:- Option-A

Questionl1:-The powers of Lok Sabha includes

(i) Make Laws on Matters included in Union List and Concurrent List
(ii) Legislates money bill

(iii) Initiates the procedure for the removal of Vice President

(iv) Approves the proclamation of Emergency

Choose the correct answer

A:-(i) and (iii)

B:-(i), (ii), (iii) and (iv)
C:-(i), (ii) and (iv)

D:-(i), (ii) and (iii)

Correct Answer:- Option-C

Question12:-Which act of the Parliament of India enables the creation of a Special
Tribunal to handle the expeditions disposal of cases pertaining the environmental
issues

A:-The National Environmental Tribunal Act 1996
B:-The National Green Tribunal Act 2010
C:-Biological Diversity Act 2002

D:-Forest Conservation Act 1980



Correct Answer:- Option-B

Questionl3:-The theme of International Yoga Day 2022 is

A:-Yoga for Wellness
B:-Yoga for Health

C:-Yoga for Peace

D:-Yoga for Humanity
Correct Answer:- Option-D

Questionl14:-Who is the Vice President of India?

A:-Jagdeep Dhankhar
B:-Venkaiah Naidu
C:-Krishan Kant
D:-Shivraj Patil

Correct Answer:- Option-A

Questionl5:-Name the Indian City which hosted the 44th International Chess
Olympiad

A:-Delhi
B:-Chennai
C:-Bhopal
D:-Mohali

Correct Answer:- Option-B

Question16:-Which of the following is the correct statement?

Question17:-Which among the following is the incorrect statement regarding action

A:-Criterion reference test use dependable ranking method
B:-Formative assessment occur at the end of instruction
C:-A valid test is reliable

D:-In relative grading cut off levels are decided before the start of the program

Correct Answer:- Option-C

research?

A:-Action research is concerned with universality of findings

B:-Action research is used to improve a given situation by a practitioner
C:-Action research was first suggested by Kurt Lewin

D:-Action research follows a cyclic research process

Correct Answer:- Option-A

Question18:-Match the correct pair :

(i) Ausbel (a) Signal Learning
(ii) Gardener (b) Discovery Learning
(iii) Piaget (c) Meaningful Learning

(iv) Bruner (d) Multiple Intelligence



(v) Gagne
A:-(i)-(b)
B:-(i)-(d)
)

)

(e) Cognitive Development Theory
(iii)-(d) (iv)-(c) (v)-(a)
(iii)-(a) (iv)-(e) (v)-(b)
(iii)-(
)-

(ii
(ii
(

)-(e

)-
ii)-

i)-

(e)
(c)
C:-(i)-(c (d) (iii)-(e) (iv)-(b) (v)-(a)
D:-(i)-(c) (ii)-(d) (iii)-(b) (iv)-(e) (v)-(a)
Correct Answer:- Option-C

Questionl19:-Solving mathematical equations using the appropriate formulas
demonstrate which level of Blooms taxonomy?

A:-Evaluation
B:-Application
C:-Synthesis
D:-Comprehension
Correct Answer:- Option-B

Question20:-Teaching models used by teachers in the classroom to facilitate group
work are

A:-Behavioural models
B:-Information processing models
C:-Personal models

D:-Social Interaction Models
Correct Answer:- Option-D

Question21:-A = {1, 2, 3,4,.., 10} agan wemamiay (Set) g’ @ronengss «f@ galnemengens
(subsets) ?

A:-3

B:-6

C:-24

D:-120

Correct Answer:- Option-D

Question22:- 24577 - deo alal ag@?

Correct Answer:- Option-D
Question23:-56P, 554P,13=30800:1 - GRWIM ~WBeO allel af@?
A:-10
B:-21
C:-41



D:-50
Correct Answer:- Option-C

Question24:-alalw dloovleyss 8 gome:wd (beads) pawouilsl aymmaw «f@ moowiees
aoaieud (Necklace) yomog ol (circular) osmogmond @¢lq.?

A:-5040

B:-2520

C:-720

D:-120

Correct Answer:- Option-B

Question25:-15! agam cquceuy@i@d 3 agem @reomymv.sy (Prime number)ges ol (exponent)
29 ©@?

A:-3
B:-5
C:-6
D:-7
Correct Answer:- Option-C

Question26:-6laommuaa®:EEBEO® +2-5-12=0, kz?+10s+3=0 gAY GG eal@gel (COMMon
root) seeeslad --@es alel ag@?

A:-4
B:-3
C:-2
D:-1
Correct Answer:- Option-B

Question27:-45 0938 ea0gss 8 1. HWDEMEIM Ao IEMIQENE. B3 HWINEIMOO B3
oo mlan’ 30° ecacdemmoelad (angle of elevation) neowlden @rWEIM. alesesmesiscd
2EOIMBe0 sjasladmlmt. af@ Fod @re:eaIIM S| Aleml dmladesma?

A:-45v3

. 45
TV

C:i-15v3
D:-&
Correct Answer:- Option-A

Question28:-9 QeuEERSo (faces), 21 QIUBEIREo (edges) os8 6@ gl @ gelsud (Vertices)
06moil@ER0 !

A:-12
B:-14
C:-16
D:-18



Correct Answer:- Option-B

Question29:-moevomanidlesmael ogaae @0l olldww (least period) oss slnesmosaclss
apd6e (trigonometric function) ogo?

A:-lsin2z]
B:-lsin3z|
C:-lsin4s|
D:-lsins
Correct Answer:- Option-D

Question30:-s44223-1622-22247=0 )M TVAQGEDIMBEO B@3 gelo (root) 2+3-Eowom, oo
MURARNGOTIMBOO 2OQIT Galle INPOQMAUDITE og®?

Ai-34vz

B:i-a-v2

Ci-—34v2

D:i-—2+v3

Correct Answer:- Option-C
Question31:-1819, 3587 agl mueaud:ges ewQmy esoned asleeaimud (GCD) og@?

A:-51

B:-34

C:-17

D:-13

Correct Answer:- Option-C

Question32:-1! + 2! + 3! + ...+1000! agrm queaue@ 5 @06 a0@l 403 SIS0 Blaggo
(remainder) og®?

A:-3
B:-2
C:-1
D:-0
Correct Answer:- Option-A
Question33:-33%(moas) -Me0 alele@@?
A:-1
B:-2
C:-3
D:-4
Correct Answer:- Option-D

Question34:-'n @@ @EOILSS MUEIIIBEMIOPIE, 2”1 @REIMWY MaIIGM® (prime
number)?

A:-agemn@d aveeuy (Natural number)



B:-comymueeuy (Composite number)
C:-sgmueayy (Odd number)
D:-@reomy aveeuy (Prime number)
Correct Answer:- Option-D

Question35:-1352=6(modio) ag)am e@MQAMMY (CONGruence) manaosilm a)@ galyenud
(solutions) eeme?

A:-geieBud saw. gy (N0 solution)
B:-am geygere’ (Unique solution)
C:-@enge@rags)s ageme @emamacsmy (infinite number of solutions)
D:-aflunio agepe gensengens (finite number of solutions)
Correct Answer:- Option-A

Question36:-4= [3 i —2] af)M OASIHIMBEO 440 @I 4 af)im eASIEIM
A:-ga aflug eaomilaumesud (pivot positions) eeng
B:-gmi® @iso@d allaig eatomiladmeud (pivot positions) seng
C:-06r2 allaig’ eanailame:ud (pivot positions) sere
D:-8®@ aflag eaomilaum (pivot position) geng
Correct Answer:- Option-A

Question37:-s3-s+2=0 &AM eaoglemodlowd (Characteristic polynomial) epw
eaclgldeo sodawd (order) «p@?

A:-2x2
B:-3x3
Ci-2x3
D:-3x2
Correct Answer:- Option-B

Question38:-A ogam easlglmeo eagmad genrud (eigen values) 2, 6, -3 agarlawoe.
(@) 14=-3 (b) Trace (A) = 2 DO® ©OLaOQYMAUDIG WEICWD?

A:-(a), (b) agomilar ve@loem’
B:-(a), (b) gl emqoeny
C:-(a) wdlg. (b) ©OQDET
D:-(a) 6)(5)00( ) vo@lmosry
Correct Answer:- Option-C
Question39:-4= [ 1 22 2y %7] agam easlglmeo ooss (rank of A) «g@?
A:-1
B:-2
C:-3

D:-0



Correct Answer:- Option-B

Question40:-A:[—§4 —36 —i‘s] af)M eASIZIMBOO [4l=—1 @M. A-QOS BHPERHEITYIS Ealoglemodlw®d
(characteristic polynomial) moesmmmidlesmailad agamosm?

Ai-3435244=0

B:-z34322-4=0

Ci-s3-35244=0

D:-s3-372-4=0

Correct Answer:-Question Cancelled
Question4l:-lim == gengallSlens.

A:-1

B:-0

C:-2

D:--1

Correct Answer:- Option-B

Question42:-z2y+ay2=b, agam &daleal 8@ caowlmdosem (1, 1). v sdaladeo (1, 1)-ea
SOEIMBO’ HORIM 42+3y=7 @RYSEMBIBI a.b afIQ ag)@@I6M?

A:-a,:3 , b=-2

Correct Answer:- Option-D
Questi0n43:'f%1%—cosx|dx H6Ngallslens.
0

A:-1

Correct Answer:-Question Cancelled

Question44:-o2 agm m@odael@d j)=x2+ar+h agaM aleIaUMOO BM afS el f()=3
@REEMBID ab afaIA af)@@I6m?

Ai-a=-2, =4
Bi-a=1 bv=3
Ci-a=3 b=—2
Di-a=2 v=0
Correct Answer:- Option-A

Question45:-/1f@dx H6MRallSlend:.
0

r_3m
L



INE

O 0w
.

NS

Correct Answer:- Option-B
Question46:-; a8 WlaooMBauenitd afoIaUm @RET. 2=fv) GREEMEIT s2-v5: BENFalSlesd.
A:-1
B:-0
C:-4
D:-2
Correct Answer:- Option-B

Question47:-v=vz, v=2 z=0 o HAYSHBIW 5JQ6als Cl=lM =-@RyEllay 2jQo ©0065g
©.21Qemud Hlgmm earLogluwlm@en Qidqle af) @@oem?

A:-ir

B:-2r

C:-tr

D:-s

Correct Answer:- Option-A

Question48:-v2+22<1  agam milellulen@d ecrvoglaullom v=57=0 agarl e JMEIBRU OB:06M

& ©.2IQEMIud (ﬁ:'lg(m Moo BIGMWINHAI HAIWE @M G af)ssl@d / é / 2d2dyds B eNRallSlend.
A:-s
B:-i
C:-4
D:-23
Correct Answer:- Option-B
Question49:-(0, =8) eadsg ERW®. v+ir @MIEQ0SM) ERWDAOW agelle|Be0 eed:inumd
)67

A:-¢ s

6236 —1

Bi-22 ¢

s =1

Ci-22 ¢,

1679 —
D:-2

647

Correct Answer:-Question Cancelled

2
¥
5 =1

Question50:-dierlesnosmédlesmm e ealolBdl@alay (-1, 4)-caimas goap Y=1 agam
06ITCRIsBEs GO0 DRIRIEEMEIT @) EalNYIMO HSWI ©.aIQ HISIM alEIEMIOS QAR@I6M?

Ai-y-42=s(z+1)
B:-(z+1)2=24-5

Ci-(z+1)2=6y-15



D:-v2=24(z+1)
Correct Answer:- Option-C
Question51:-0oausm@d TLEUBBOS (@lem@earud) wemomildeo el ealo@ldamy’ agamoem?
Al-0f)go 00aeM@ Moceid:So
B:-aggjo e000auem@d mucsuysso
C:-aggp dlowd MEMmiPo
D:-aggfo oj@erpucauysgo
Correct Answer:- Option-C
Question52:-moee @midlesma@ied egomiau)’ 1Mo @REIOOM® aR@IET?
A:-mo_qdo«ﬁ memg’ (ageR@ TVoEUYEUB)
B:-{123,. 100}
C:-00auem@d meaug (@lmme o)
D:-@mymnemo
Correct Answer:- Option-C
Question53:-z,=15,,;=2F5,7=23... @EREEMBIOB i, 7 BHETRalSERS.
A:-z
B:-2
C:-3
D:-vs
Correct Answer:- Option-B

Question54:-mevomarlEleasmailad agmasm wa@l?

[e’s]

(i) > (rii-n2) gedeudmmy

n=

i

(i) lnpjn—p @emedmay if |Pl>1

n

Il

(iii) 3 (sin(k)+%) PoWOQIGEMS
A:-(i), (ii) agomlal 20@oe @
B:-(ii), (iii) agorla a0@o vow@
C:-(i), (ii), (iii) aprlaeoweg. O@®QO6NY
D:-(i), (ii), (iii) agorluewejo. wodlwoeny
Correct Answer:- Option-D
Question55:-ﬂz){sin(%)f ot 50

Oforz=0
9@)=22f(2) af)BIOD @O @7
A:-dommemnig’ ®) agam nemlomlenl agefd caloolmddlad g e:emElmainy’ @roey
B:-0 agom cato@lm@olad g aslanomasysnid @oegy

C:-0 agom carndlmdled g caflanomauyenilud @ryen’



D:-g&glm as0gomidlesmemononsg)

Correct Answer:-Question Cancelled
Question56:- /= {ﬂjf;’ﬁ; ; :4
J 8@ &HEMREIAIMY aloIaHM @RYSEMEBIT @b af)MIU GeMBallSlesd.

Ai-a=15=-3

B:-a=7b=4

Ci-a=-5p=2

Di-a=-4b=7

Correct Answer:- Option-A

Question57:-mee omldlesm@I@d WwEl ag@oem?
(i) [a, b]-® aflosanma @R age GeNmaIM anoUIaHm@mye Glaom mowsnilud @R
(i) [a, b]-ee! aggjo esnDErR ancUIarmBmye Glaom smowsenilud @reny
(iii) [a, bl-eea! agejo eBoeEMIE506M anotintmBmye Slaom eomoweniud @ryeny
A:-(i) 2o@o
B:-(i), (ii) agorlcy @0@o
C:-(i),
D:-(i),

Correct Answer:- Option-C

(i) agomlar @0@o
(i), (iii) agomlcu

Question58:-z=z+were(:5) =5 agarlal @REMEIT3 v a3 Slgm esIeUm ag@aem?
A-2zy+s2=y
B:-s2-z4y2=0
Ci-(z-14y2=0
D:-s2-zy=2
Correct Answer:- Option-B

Question59:-(1+1)" = 1096 @REEMEBI = aglaM +VE oJBERMVoEUY af)@WIET?

A:-8
B:-6
C:-12
D:-24
Correct Answer:- Option-D
Question60:-7c~c - eal j2)=122 afM aNeUIHOM MVeENIMUI]4] LOGBIWIRVD G677
A:-2=0 agam can@BAled @0@o f allanom@auyenilcd @ryerm’
B:-2=0 agam eanl@olad | @emeldle; @rem
C:-c-e02! agg eanwimddlap | @omeldls; @mrysm’
D:-c-e21 agejo eato@lmdlaje f cwlanomaueniud @mrysm’



Correct Answer:- Option-A
Question61:-emlajomaiad alan s audlwe(egd) ersal el aclges.
A:-@ryeaesds @aale (Specific heat)
B:-ge. (distance)
C:-cano (speed)
D:-@re. (Momentum)
Correct Answer:- Option-D
Question62:-4=si+a+kB=1+2-Tk agarial elmnoidlesemioud "a" es galp dldepalasds.
A:-4
B:-2
C:--1
D:-g&8l@ alosmmae@omeag)
Correct Answer:- Option-B

Question63:-45=0 @ReMElgj 45 agBIQl oJBRELIMT BRDE, BT MIOLOQMAIRI®
aR@IEM WEIWIW (JTRIAUM?

A:-A ogomay B o elsnimoery
B:-A agm@y B @ cumoameaosy
C:-(1), (2) agomlar ve@loem’
D:-g&8lm asogomidlesmailcd smas)
Correct Answer:- Option-A
Question64:-edlajoQmaelcd «g@moe ElLOB® agM QUBMRILRS:.
A:-am eaigd V anoldeo ayoilaeim. (divergence) ojmymossmeslad earvoglemoiond @men
B:-a®m eaigad V, div v=vv
C:-V @es eaxsgdlmdeo (curl) ayoilaeim. (divergence) eamosny
D:-a@ eaodsg adledew F, curl F=0
Correct Answer:- Option-C
Question65:-emQo @MYIAIM BHEMRIDS:.

A:-am e205] esoglrilod eageend am ecoalw erwlo (linearly dependent)
ueilwamaoem’

B:-6#0qjmod OAUGQHEES GG OWo 6@ el @RHWII® Mu.ailwomas

C:-am emo0ul emosnd-esoglmlod eageeud 8 coalw arwlo (linearly dependent)
uoilwamaoem’

D:-moel eigeses ageos OG0 6@ el @YW MVsalwomaosy

Correct Answer:- Option-B

dy

Question66:-%ﬁ2@:y Ag)aM AWOA0MAUT TVRARBIOTHOM H:0l9yS8 6T IYIAUMBUY ISP
BBGHISEBM.
(i) @dIINA EaldQIMBO @R adelo



(i) anJlowend EaldIMa @RS agzio
A:-(i) wdloeny (ii) emgosm
B:-(i) oo (ii) ®0 vo@l@oem
C:-(i) 20 (ii) 9o oo™
D:-(i) emqgos (ii) vo@losm
Correct Answer:- Option-A
Question67:-aflanom@aa@d TuaaRE:OBIRe0 @nanj WIUQe agamaem’ %Jﬂ/@ —y
A:-a0d8cwad = 2 awlyll = 2
B:-80dcwd = 2 awlyl = 1
Ci-808wd = 3 Wy = 1
D:-e0d8cwd = 3 allyl = 2
Correct Answer:- Option-A
Question68:-(p?+sp+6)y=0 solution
Ai-y=Cle-224+Che-3=
B:-y=Cie-bv+Cpe-bs
Ci-y=Cie-24Coe-3v4C,
D:-g&gl@ alosmmae@omeag)
Correct Answer:- Option-A
Question69:-n aodawad ERWIgES MVOWIEEM AWlANOMEUTE MVAANGIETIMHO aldlanoEEBIS

A:-n-errlo@onw qudleosarsesanud (independent arbitrary constants) asocd
©6MRIBs0

B:-n-endlo@oniw cudleossud 9neodse
C:-epaloomace qudeossasud ey
D:-g&8l@ alosmmaewomeag)
Correct Answer:- Option-B
Question70:-z2+y2=1 agam MLAANEGIEOmISESI MABBISIBOHO BIBECOMINEM@ SOWERA] aR@IEM?
Ai-y=e®
B:-y=a5422
Ci-v=2sz
D:-s=ys?
Correct Answer:- Option-C

Question71:-am amauym @mmeo allgled @l soadadleaiss 15 sleiodlod eainmaleje soadimicd
aslony’ afislealss 10 ssleaiodlod sainmaleje #emussiglod cmuamidlasmo. @oeajoud @RAIMO0 1wIUE
BAIND af)@WIE?

A:-12.5
B:-12



C:-14
D:-13
Correct Answer:- Option-B

Question72:-100 alleisges @reasslemoqoniaugle (relative frequency table) mldealy.
@RGIGd @RemI0aeO™ QleiQes @realaeoqom] 0.1 ErWIm TRGIMEO @RYYOD af)@?

A:-12
B:-100
C:-1
D:-10
Correct Answer:- Option-D
Question7 3:-®969a]oQmMaI® 6®QIW @JTRIAM oB®I6M?

A:-@ryeeoansm qusimoqionll gl (less than ogive) eraeeoacem cueaimogo aig ok
(greater than ogive) &gl agam enflag alleieges awE. (median) eroiclss.

B:-adlequowodiad 988 elsnimo@ eninge:ud @rQ@viles @pralomile:a00ildleso

C:-06a w@EWOTIeR! 60600 QYOMIUWODIMBEOQ. alladidsm. allallw EMeEEBRSeS @ogailay
@RMAlIB o @R)YWI@lEs0

D:-adleaqpowodieal sniodldeo geudeonosicden awmnilnsenss cwosdlaflapm quenilmogom
Qo LIClER0

Correct Answer:- Option-D

Question74:-aws AWOQEIBAI af)ad (MEUIEHOBQo BENG BBGIENE VETI4I0B8 @IOY AlOQRM@IBE @6’
REIIW JTRoQIm?

A:-aoma aolwom. (standard deviation) sveglss.
B:-aiyolloom wemoss. (coefficient of variation) soeglses.
C:-20m@ Q@I@IMs ald:@lodso
D:-ai@l@om wemoghe ald:@@odso
Correct Answer:- Option-A
Question75:-p(4)=0.23,P(B)=04,P(40B)=019 @ROEMEITB, ISP AIOQYMDI®B BRI GBIV (JTYIUM
A:-A @ B @o meiavowym (equally likely) DOAURHU @6
B:-A @0 B @ qunm@m sweacdqeud (independent) aryem’
C:-A @ B @ anwlo meamdqswd (dependent) aren
D:-A @ B @@ alemue esair (mutually exclusive) DeOUREUB @R
Correct Answer:- Option-C
Question76:-mey @mMIElEBM@I®d RAIIW TVERIAKD TEEETING LB
A:-P(4)=03,P(B)=04,P(ANB)=0.79
B:-P(4)=0.2,P(B)=06P(4UB)=02
C:-P(4)=013,P(B)=14,P(4NB)=0.79

D:-P(4)=03,P(B)=04,P(ANB)=012



Correct Answer:- Option-D

Question77:-anq REUETBSES 6N aldslS P@FEMUOUS, EENElRj BEO Moty &IMlEBMMIMES
MULERIUY®

A:-1/2

B:-1/6

C:-1/36

D:-1/4

Correct Answer:- Option-B

Question78:-cem alleisges AM 5 9, nomsai@lome (SA) oymije @RI MVEUBUD aBO®IOEH
@nyern’?

A:-10, 0
B:-5,5
C:-7,3
D:-6, 4
Correct Answer:- Option-B
Question79:-E @ F 90 quiom@m o0eaimQeud @ren’ ag@led @69 alo@mm@ilcd @@
A:-P(EnF)=P(B)+P(F)
B:-p(EuF)=P(B)+P(F)
C:-P(BUF)= P(E)+P(F)-P(E)P(F)
D:-pP(EnF)=P(B)+P(F)-P(E)P(F)
Correct Answer:- Option-C
Question80:-aymlwom wemame (CV) 100 @ro@imom, moevao@maeicd agmosm’ wdl?
A:-eowd®. (AM) aome aysloom. (SD) ammemwosy
B:-weowndlges aidye. aome acloomamin’ @eaiymoem’
C:-ayoloomomlben aidye. woowdles @elmosm
D:-spaiewomongy
Correct Answer:- Option-A

Question81:-aieadigee:wd = 0o » Qo EpWiges 8@ eemiesMIdlo@d almliywmec caurlemmy
g ©?

A:-np

B:-ns(1-9)

C:-p(1-p)

D:-ntn-1)p

Correct Answer:- Option-B

Question82:-moeqjoqmaiad ‘e 60ad eamdl' eajoodsles ewosnemiald eavmaild
ANEBAHMOO Gal@ af)ao)?

A:-eeemiemonload culadlenjeuad



B:-calomlemuoend aulonglenyaxad
C:-emudlal eesniemodlocd auslmglenyaumd
D:-empeasls; aslmdlenouad

Correct Answer:- Option-D

Question83:-x am awlmlg” 0omdawe caudlwenilud @RI @RMIMO0 Eejosnisnieildl a0my” aneEauad
af)(o?

A:-P{x =z}

B:--P{x =240z}

C:-P{z<X<z+0s}

D:-p{x=1s-0s}

Correct Answer:- Option-A

Question84:-x em N(uo?) allardlen)aud Ganoeso ©a1IQo@ v =27 @es eaosnienialldl ecwmavld]
QNEBAHM af)(m)?

A:-n(o)

B:-m(uo?)

C:-n(0,02)

D:-v(uy)

Correct Answer:- Option-A

Question85:-x & nomdawe caIBlMILE @RYE:MR. agMIB @RGIMHO EAIAMO OB|MEOJIVY an6Baumd
af)?

A:-B(eit=)

B:-5(e?)

C:-5(et?)

D:-5(s2)

Correct Answer:- Option-C

Question86:-X 9. Y @ @6 snmBaulenjmdawmad 0omawe eaidlwenilud @ry@e:an agamomd V(X-Y) ges
aflar?

A:-V(X) + V(Y)

B:-V(X) - V(Y)
C:-V(X) + V(Y) - 2 CoV (X, )
D:-V(X)

Correct Answer:- Option-A

Question87:-x ©. v o @6 00mawo eElNISHUD @YB:M0. af)EslTd B6MElateM@d Eajosruenileid]
&80a0-X/Y @es allel agao?
A:-p{x}

B:- P{XnY}
* P{x}

C:-pPixny)



D:-Flxny
* P(Y)

Correct Answer:- Option-D

Question88:-mordallewadiruem cso0lealntid c0fladleasym@cldeo allel agom?

A:--1 go@d 1 aee
B:-0 gowd 1 aewe
Ci-— go@d ~ e
D:-0 go@ « e

Correct Answer:- Option-A

Question89:-am mJleenllud eI GlWHUMBHO TVLIBIMY @alo )7

A:-v=ax?+)"
B:-v=ax?+6+)"
Ci-v=ax+bx2+y
D:i-v=ax+v+)"

Correct Answer:- Option-D

Question90:-6@ '&adal' adlg a1 Ralewoullesm ATIQeS Gald afw?

A:-@JBmilaflid 89ad ellqy &apoc@edmy
B:-@ldailaflud 6000 agaylennumd
C:-@ldadlafld 8oad @&dal adlglouy
D:-@jldadlafltd 80ad” Slgaumd

Correct Answer:- Option-A

Question91:-ayodlmless aleodloq. @elejss AmPMVEBIME Eald g ?

A:-qyoadeodaly’ agod

B :-avoeenilud agod
C:-emoend muoespfluy agod
D:-spaiewomongy

Correct Answer:- Option-B

Question92:-auodlesanasy’ Moeeylvy Aloil ageajoeoam Dalewouilesma?

A: -GoJOc%GeInSH(Ta £a0QEOIHIMI@MY’ @R)E:EMIIUD
B: -anOQdcelosuaa Ga00CAH MM @RYE:CMIOUD
C:-cmo%eelnsma £6a066MQ @RYEETUIUD
D:-saieomoag)

Correct Answer:- Option-A

Question93:-a@ muoemiglad erseslaiges?

A\-8aldq erlct@e0 afgd QmIoees
B:-calojeeinudlon 50% emigeud



C:-eanqjecinumion 5% qemloed
D:-ganqjeaimiioal ag@ @oowonye
Correct Answer:- Option-D

Question94:-X sm quomeoda emodacd causlmdlsnjcum @resmesslad v =x2 @eo0 eejosnimiaid]
WlnJlenyaUBeO0 Gal® ag)awy?

A:-N (o)

B:-nv(02)

C:-n(0)

D:-x?

Correct Answer:- Option-D

Question95:-"»" aleadllgd ERWIgEs 8@ can@lemuosd auslmdlanaumled mlmoe = mudeeniu
S6NITNVABEAIHMBUB g SOMIM, 1 QYOS BT GREMENIWIMY afIYIEDQB afam?

A:-arvooeniled dllad
B:-avooenilid i@y
C:-crvooenilid dlaload
D:-crvoeenilud earocy
Correct Answer:- Option-A
Question96:-i. agm e@alenqd ¢ agm aleddlgdlden '@madlayms’ ewadleagd @r@:smendsslsd
A:-E(t,) 6 @0 V(in)— 61 QIRJ®IBEMUOUD
B:-E(t.)—6n , Qiej@os:6mi00d
Ci-V(ta)—=6n , QIe)®IHEMI003
D:-spaiewome. @og)
Correct Answer:- Option-D
Question97:-am aleAIQAINe0 Muadlaumdd’” qRodlmdles” &engallslenaiod aleouilesmm milavoame
A:-00qy eenissienicd adleboa.
B:-afletid ©0mnom anogeeoemaumd milrvoame
C:-00mmom allegad @oslmunom adlevomme
D:-6e1000m «Hean milevoamoe
Correct Answer:- Option-B

Question98:-esqdlovy Boad IGIler® BeaneadIMIMi@ @Ruisdemdlal eeanealomilmslny
REIISEMINE MUBEBOETITlem mlomilesanmss eqjosnmialdlges eald agam?

A:-al0id 800 3 esmY
B:-P{e6sqa] | agod}
C:-P{e6sq] Il agod}
D:-eei0imd 8000 adluiladlemdmy

Correct Answer:- Option-A



Question99:-q}3w08an” gl auflrgdlenyaud @6rgaflslajmod?
A:-@r)d.af). adlaud
B:-®0u8allegem
C:-uIlgpoo eoeaLy
D:-aJl. @md. 0oqy
Correct Answer:- Option-C

Question100:-eee wmaslenBomo eesmd aslndlenasden coau@es eqjosniemiald eavmaild
ANEBEAUMOO Gal® af)aoy?

A:-t alonglenyosad

B:-F awlmdlenjouad
C:-emodamd aullmydleneuad
D:-ee@:mi@ad auslmlenaumd

Correct Answer:- Option-B



